	
Description

	
Dot plot
	
Box plot

	
The numbers are evenly spread out from the highest to the lowest.
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The numbers are clustered 
around the middle.
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There are lots of smaller numbers.
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There are lots of bigger numbers.
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There are lots of big and small numbers 
but not so many numbers in the middle.
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The residents in a suburban street have complained about speeding vehicles. As a result, speed
bumps have been installed. The two boxplots show the speeds of cars at a certain point in the

street before and after the speed bumps were installed.
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20 Sample statistics and data display

10 20 30 40

Speed (km/h)

2 By how much has the median speed been reduced?
b By how much has the top speed been reduced?

< One result of installing the speed bumps has been to reduce speeds in the street. Describe
another result. Support your answer by making some calculations from the data in the

diagram.

Two different ways of showing how data is distributed are:

= aboxplot,
* adot plot.

Match each boxplot (A-E) with the most suitable dot plot (1-5).
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customers.

zive the missing amounts of change (in cents):

= Calculate the median, lower quartile and upper quartile.
5 Use the results in part a to draw a boxplot.

Explain.

A cigarette vending machine has recently been malfunctioning. It takes a $10 note and is
supposed to issue change in coins. For amounts less than 50c it has been short-changing

The manufacturer tests the machine by conducting 25 consecutive transactions. These results

10,40, 5, 40, 25, 20, 40, 5, 10, 20, 10, 5, 20, 5, 10, 5, 20, 30, 20, 40, 40, 20, 10, 40, 5

< What feature of the data means that a boxplot is not an appropriate way of displaying it?





